FY-832

Name :

IMPROVEMENT / SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part — I11 Time : 2 Hours
STATISTICS Cool-off time : 15 Minutes

/General Instructions to Candidates :

Maximum : 60 Scores

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Statistical tables can be used in the examination hall.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 to 10. Each carries 1 score. (10 x 1 =10)

1. The mid value of a class is 17 and the lower limit is 10 then the value of upper limit is

(@ 10 (b) 24
) S d 17

2. The mailed questionnaire method can be adopted if the respondents are
(a) rich people (b) illiterate

(¢c) living in cities (d) literate

3. The Journal “SANKHYA” is published by
(a) 1ISI (b) CSO
(c) NSSO (d) MOSPI

4.  In a pie diagram the total quantity is 200 and the angle of a sector is 324°. The

frequency of the item representing the sector is

(a) 180 (b) 90
() 36 (d) 160
5. Mode refers to the value within a series that occurs number of times.
(a) maximum (b) minimum
(c) =zero (d) infinite

6.  Which of the following is a probability sampling ?
(a) Quota Sampling (b) Stratified Sampling
(¢) Judgement Sampling (d) Convenience Sampling
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1 2)®@3 10 A190W)HG af)LI0 GaldBIEBURGN)o DOMAOALI®)D. 1 cMpod aflowo.

(10 x1=10)
1. 80) Hordlead awsoe 17, ®a9imaicldwl]l 10 @@ Dajaldlus] @1 5)AN).
(@ 10 (b) 24
) S d 17

2. calospalel @renan el @oalelmilensme nsslcd DM @OYAN @IRYUB
(a) wWANBHIBEMo
(b) MOBHUOOIZHEMo
(c) a15eMEBEIE3 @IAIVIEHAMAIRIBHEMo

(d) ©ERGEHOIRPMIB:BIB:6Mo

3. “avooaly” af)am cREaM@3 (Irlellaxdlemma
(a) ISI (b) CSO
(c) NSSO (d) MOSPI

4. 80)66al w@@@oﬂoc@ @Y B @8I 200, OTVHA ¢ 324°, af)B1@3 @R HAVHA

(IGTTWOMo 6121QHAM HMOTNOG @YU ag)(@ ?

(a) 180 (b) 90
(c) 36 (d) 160
5. 80 cwmldieer W  «)IM®, @R  CUHIMIWIG3 @Ql6Mm
@RYAURDITNSNAN@IE).
(a) )0eom (b) sl
(c) an=mpe (d) @O

6.  ©®96¥ al0WAMAVIG3 MVoRIAIY®I TVOMNUB Gl@ @YW a6 ?
(a) @md050 avomNud (®)  oglesanaw avomlyd
() =w=eagd avomidd (d)  oemalladload avomilud
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7. For a distribution 1, = 4 and p,, = 48 then the frequency curve is

(a) Lepto kurtic (b) Meso kurtic

(c) Platy kurtic (d) —vely skewed

8. The sum of the probabilities of all the elementary events of a random experiment is

(@ 05 (b) 15
© 1 d 2

9. The values of a data are closely clustered around the mean. Then the dispersion is said

to be
(a) small (b) large
(¢c) normal (d) symmetrical

10. If A and B are two independent events, then

P(B
(a) P(A and B)=P(A)/P(B) (b) P(AandB)= PJ(K%
(c) P(AandB)=0 (d) P(Aand B)=P(A) P(B)
Answer any 6 questions from 11 to 20. Each carries 2 scores. (6x2=12)

11.  Match the following :

A B
(i)  Number of vehicles in a school (a) Primary data
(ii) Data collected directly (b) Continuous variable
(iii) Official records in panchayaths (¢c) Schedule

(iv) Answers are filled by the enumerators (d) Secondary data
(e) Discrete variable
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7. 80)all®oemamad u, = 4; L, = 48 af)Imoms @Ryl ETolal (o @1 BN,
(@) oelnicqo adglay (b) o2cIVO BABFH

(©) qlodl @A (d) emuglandl apyaw’

8. 80) 00BWoe alBlauMOTIOL! af)elo (ILNdld: ENAIMGIMBIESW]o MVoRIAIIDWOS

@) @1RYH)aM).
(@ 05 (b) 15
© 1 d 2

9. 80) WwigWes alleidud, AWEDTIM] al)gle BS)®EIW]  EH(ElB:Aladleam)

o) @RAIWIHS AWITVCaIBau B @RYEI.
(@)  aoarem’ (b) @) O@3
(c) avowosm (d) avsywoo

10. A, B agarilal 0ane) aui@@® gDAI33a:0d @1y00@s
(@) P(Aand B)=P(A)/P(B) (b) P(A and B)=P(B)/P(A)
(c) P(AandB)=0 (d) P(Aand B)=P(A) P(B)

11 2)®@3 20 01008 oBOOBIEN 6 GaldBIEBUIGH ROMOONYI®]D:. 2 cMOA
ailoo. (6x2=12)
11.  Gal®)oals] Gal@Bed :

A B
(i) s0yaEee! AaOMaBROS af)siNo (a) e6@Iadl aog
(i) emdlg88 WO EUDEIMo (b) @)@ 2100
(iii) aIEIOVEBNELI BDEBPUID COMDHUDB  (C) aHWLNIB
(iv) aflaie GUIELMB QoMU (d) eTVEHENEAl AWwoQ
al@laflesam).

(e) ©aOlg 2100
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12.  Explain the method of collecting data by Focus Group Discussion (FGD).

13. Draw the Scatter plot for the following data :

Age of child : 4 5 8 6 7 3

Height : 28 | 36 | 52|40 |49 | 25

14.  Explain the importance of diagrams and graphs in Statistical Analysis.

15. Draw a Box plot for the following data :

7,4,3,1,2,8,5,3,7

16. The coefficient of skewness of a data is 0.6. The mean is 35 and the SD is 6. Find the

mode of the distribution.

17. Describe the 4 types of classifications.

18. Construct a relative frequency table for the following data :

Class : 0-2 | 2-4 | 4-6 | 6-8 | 8-10

Frequency: | 5 6 3 7 4

19. P(A)=0.34;P(B)=0.28
P(A/B)=0.21 ; Find P(B/A)

20. The values of 8 pairs of observations are as follows :
Tx =88 ; Sy =152, Sxy = 1772
Find the covariance between x and y.
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12, an0B9 v (N)a] 21B2]0ENOS AIQ CUAIEEMe MSEMM Al@l allaidles s (FGD).

13, ®06% al0®)IN AWIQWIOS TVEHIYAEIIF AUOBND; :

)51 VOS (11000 : 4 5 8 6 7 3

DVWWOo : 28 [ 36 | 52|40 |49 | 25

14, avacaild ANuGEIN@IIEE AW (o, (NN ENAIWIHS (@ IIWIM e AlVOBAIS)D:.

15, 6% 6305)0ABlH9 N AWIQWY EENIE, Galog AIODND, :

7,4,3,1,2,8,5,3,7

16. 80} WwoQWes cd»Wladlauyad Boan APYMAV 0.6 @R, Mowy 35, SD = 6

@RI CAOW B61B)a 15166

17. 4 @oowile)ss aldyleosmo allaidlo)d.

18. @069 6305)OTNBIE9)AM AWIQWIOS @IRYGaldH]d @YD algld QIS |

%;0%': 0-2 | 2-4 | 4-6 | 6-8 | 8-10

@RI : 5 6 3 7 4

19. P(A)=0.34;PB)=0.28,P(A/B)=0.21
a)®1@3 P(B/A) = 806m).

20. 8 cmos] alleldg)es allaleasgsm 21)016S @aNIGlenInN®

Sx =88 ; Sy =152, Sxy = 1772

X, ¥ o)l 21060B8)0S 630601 MOV @:6Ne)ailSle)d:.
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Answer any 4 questions from 21 to 27. Each carries 3 scores. 4x3=12)

21. Write a short-note on any applied Branch of Statistics. Examine its relevance in the

present situation.

22. Prepare a Bivariate frequency table for the following data related to marks of subjects x
andy :
(42, 50), (32, 38), (30, 35), (28, 30), (40, 41),
(37,45), (53, 41), (12, 18), (18, 24), (27, 31),
(35, 38), (42, 50), (15, 20), (32, 42), (21, 28),
(32, 46), (5, 10), (10, 21), (13, 21), (39, 42),
(First class for x : 0 — 10)
(First class for y : 10 —20)

23. Suppose your midterm test score is 80 and your final exam score is 94 using 40%
weights for midterm and 60% for final exam. Compute the weighted average of your

SCOres.

24. For the two values 18 and 8, establish the relationships among AM, GM and HM.

25. Calculate Quartile Deviation for the data given below :
24,28, 17,2,7,27,5,15,7, 14
24,10,48,7,8, 10

26. Let A and B are two events of a random experiment. If P(A) = 0.25; P(B) = 0.4,
P(A or B)=0.5, find :

(a) P(A and B)
(b) P(A and not B)

(c) P(none)
FY-832 8



21 2)®@8 27 QIO aBO@BIE1o 4 GaldBEIBUdHH DOMOOAI®). 3 ¢TPOA aflo.
4x3=12)
21, guogladiglorl opo@®lene 80} 000aIOWENTla] 80} erendNdlal af)I@D.
@GO3 @RYMA0LN D> (ITVSTH alBlEUOWIH9)d.

22, ©06% OBS)OTIGlENIN WIGW Bllald @RYADITI alSld @QI0IBND:. (X, ¥y af)aTil
e aflan@eaglo el M0BHNHHUD)
(42, 50), (32, 38), (30, 35), (28, 30), (40, 41),
(37, 45), (53, 41), (12, 18), (18, 24), (27, 31),
(35, 38), (42, 50), (15, 20), (32, 42), (21, 28),
(32, 46), (5, 10), (10, 21), (13, 21), (39, 42),
(x &3 @rByGoaV": 0 - 10)
(y @05 @rysygoav’: 10 - 20)

23. olemzes alawese aldlEMWES AUEEHId 80 Do, BRAITVIMAIBHAIGIGHUWOS
MUEEIAB 94 Do @RYSMANITIBNNS. NAIWOS om@”g”cm’ (B006BUB) WLNIWHMo 40%

9o 60% @RWIM3 AFIBBOS AVEHNITOZ V0IVOA] BeNE)a 15199

24. 18, 8 apadlaleisddses AM, GM, HM agavlal oolenss  snimwessdd
B6NBYalS1He) .

25, ©96% al0@)aM AWIQ QD (20860653 AIGEIWOMo) 06N :
24,28,17,2,7,27,5,15,7, 14
24,10, 48,7,8, 10

26. A, B agarilal 80) 0008Wo al@lamem@iload @ame) sDI3)dud @aem af)amldleses.
If P(A)=0.25; P(B) = 0.4, P(A or B) = 0.5
af) B3 @Y alOWIAMA RHeNE)allSIea)d: :
(a) P(A and B)
(b) P(A and not B)
(c) P(none)
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17
27. Probability that Mr. Bimal studies and passes his Statistics examination is 50" If the

15
probability that Bimal studies is 16 find the probability that he passes the Statistics

test, given that he has studied.

Answer any 4 questions from 28 to 33. Each carries 4 scores. (4x4=16)

28. You are asked to collect data related to Covid-19 cases in your ward. Prepare a

questionnaire for the purpose.

29. Prepare less than and greater than cumulative frequency curves for the data given

below : (Draw on same graph)

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50

No. of students 8 12 20 10 4

30. From the analysis of monthly wages paid to employees in two companies A and B, the

following results are obtained :

Company A Company B
No. of employees 550 650
Average wage (monthly) 5000 4500
Variance of wages 900 1600

(i)  Which company pays larger amount as monthly wages ?

(i) Find the combined mean.
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17
27. Mr. enflacd quodiauledy aldlan alSlenmM@IMIo ald@LIMN@IMBH TVoEIAIL® 20

15
@YSHYN]. NI alSlENNMBS  MVoBAN® T GRMIAN]. )BT BOWIUS

aRgIaledr a 1618, alla|@IMEUdaHo aldTVISINGIMSEEH TVoRIAIY® agf)(@ ?

28 my®@8 33 QIO aBOOBIEIo 4 GaldBIIBUDHH DOMOOAN)®) . 4 cMPOA afl@o.

(4 x 4=16)

28.  dflemgles andaufleer e300llan-19 »emen:ea alfloss allaieecua ool mow]

Mleoseg aflalenan). D DEGUDYBTIMIWBS G2 1034001l A2 660

29. ©06% 03IS)ETIBIENM WIgWeS eelay 3om asdlal; ¢wqgd B0 asdlal’ gnal

@QI0IBEI AUOHM D : (BCO (NI AUQHN)B)

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50

No. of students 8 12 20 10 4

30. A, B aparl eme) &$Iaila@)os 20aval@@omoiion aigloss afliaeimooiled

@969 210N Afl0IEEBU3 LGN :

SNl A Sniml B
@Y1 I0E] BHBOS ag)sNo 550 650
YOEIVOAI 5000 4500
caIGlmay 900 1600

(i) &S O@ MIAV VOMIGo MAIBYAN BHAUMN G ?

(i) OIS HMUDAF BOWYo HOEN).
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31.

32.

33.

34.

35.

Calculate mean deviation about mode from the following data :

10,12, 8,11, 4, 10, 9, 8, 10, 7

Calculate coefficient of Kurtosis for the data given below and comment on it :

4,6,2,1,7

An urn I contains 4 white and 6 black balls and another urn II contains 4 white and 3
black balls. One ball is drawn at random from one of the urns and it is found to be

black. Find the probability that it was drawn from urn 1.

Answer any 2 questions from 34 to 36. Each carries S scores. (2x5=10)

The income distribution of 63 families are given below. Find the median income :

Income (‘000) | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100

No. of workers 6 12 18 13 9 4 1

Calculate standard deviation from the following distribution of marks :

Class 1-3 3-5 5-7 7-9

No. of Students 40 30 20 10
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31.

32.

33.

34.

35.

@06 al0W)AM AWIQWOS Ailad Alafle@au 0 (¢20Ul@3 AFlaM]o deNe)allSlen)d»)

10,12, 8,11, 4, 10, 9, 8, 10, 7

@06 alOWAN AWIGWIAS HBEFOMVIAV @618JallSlaj, GRGEIOM ald] A130610 99D |

4,6,2,1,7

8aMoe o™ avellad (um 1) 4 eS80 6 GHOTM@AIW alMNHUD ONE.
oMeo2e e avenllad (urn II) 4 eSS 3 GHOTM@AOW al0NHUB D6NE.
MA@ MM B0) ald® QI f)S)AD). BRD HNTD  aldNIVIAM.

af)aMMI@3 @@ BaANIASDD MLHANVI@3 AN AUIN@IBIM VS MVoEIAUYD) af)(@ ?

34 2)®@8 36 QIO aBOOBIENo 2 GaldBIIBUDNH DOTNOOALI®) M. 5 ¢aPOd aflo.
(2 x5=10)

@06 6BHIS)BTNBIBNAN® 63 3)S)oMIETBGIOS AIE)AOM Al@EEMANAOW] MIMLOA]S

Wwogoem:. Alalad QIe)AIMo BHEMBHIBE), :

Income (‘000) | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100

No. of workers 6 12 18 13 9 4 1

20806008  Al®EEMANMV]  MIMWeR]S AIQEIETM  a1)01eS  ®ATIGlENM®.

auoadeawdu wlaNeeuad dame)aislead

Class

1-3

3-5

5-7

No. of Students

40

30

20

10

FY-832
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36. One card is drawn from a well-shuffled pack of 52 cards. What is the probability that a
card will be

(i) aspade

(i) not an ace
(iii) ared card

(iv) not a diamond

(v) spade or an ace
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36, MIMOW] BB 52 BHIBWIHSIT AWMl B0} HIBAW OO ETINS)HNAN.

af)aNI@3 @Y HOBA @I alOIIMA GBI BHIMBEH TVoRIUYD af)(@ ?
(i) &0Vl

(i)  ©ag)V @R BTGB )M @M

(i) 80} 2RI SHOBW BRLJOGICH5)AI100D

(iv) 80) WWNME R BIGIBIENINGIM

(V) 80} Mol @O LIBIGE BO) Oaf) TV @) H)MGIM’
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